50, will be treated as malpractice.

aining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the rem

USN

Time: 3 hrs.

Note: 1. Answer any FIVE full questions, c. ing ONE full questio m each module.

2. Use of IS800-2007 and steel tables:are allowed.

Explain the advantages and disadvantages of steel structure. (08 Marks)

Distinguish between Working str¢ sswdemgn and Limit stateddésign of steel structure.
(08 Marks)

OR 3
Calculate the “Shape factor” for the Triangular set : (06 Marks)
Analyse the continuous ‘beam “ABC” subjected to working loads show in Fig.Q2(b) and

determine the plas ic’'moment. Use load fa “ﬁ'}: is 1.5. ' (10 Marks)

(06 Marks)

(10 Marks)

MI:I::

2 plat
{ . Taepn
P77 »
180

mm | jsne 3“@6/?"/“7

N
Fig.Q4(b)
1 of2
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Module-3
Explain the behavior of compre551on member. (06 Marks)
Determine the compressive strength of a strut of ﬁA 150><75><8 mm connected to a gusset
plate when (i) with one bolt (ii) with more than. 6 bolts (iii) Welded.
Assume angle is axially loaded. Take length of e member is 3m. (10 Marks)

QR
Design a column section using double ‘channels back to back to carry a factored load of
2000 kN. The height of the column ‘S Sm with the column‘ls hinged at both ends. Also

design the column with lacing m%olted connection. (16 Marks)
What is Lug Angle/ Explai in brief with a neat dia am (04 Marks)
Determine the tensiles l0mm connected with bolts of M18 in
two lines. (12 Marks)

Compression member ISHB 300@ 63 kg/m ‘1s:’carrymg a load of 800 kN. Take M20 grade of
concrete and 150 kN/m* SBC of s011 De51gn slab base and concrete base using welded or
bolted,eonnectlon (16 Marks)

Module-5
What are the factors, which affects lateral stablllt /% (04 Marks)
Determine the design beﬁé*qo strength of a be”am &%MB 300@ 434 N/m. Assume that the

factored shear force is less ’than the design shear strength. Use Fe-410 grade of steel.
(12 Marks)

Design a sulta’l;g”ie“ yeam for a roof Qg 1men51on 7.5m x 12m consists of 100mm thick R.C.
slab supported on steel beams sp: ed at 3m centre-to Centre. The floor finishing may be
taken as kN/m? and live load;’ﬁs 4 kKN/m’. The sel" veight of beam is assumed as | kN/m

Take ting defection as sp ?ﬁSO (16 Marks)

. 74
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